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Ol M M (Pass/Fail) HH JIE
©® S8AKE
1. 20158tHE 28H)| ~ 20168t = 18+)| A=0WSH =8t X}: Pass/Fail Q&
- Pass JI&E:1.0-4.0
- Fail JIE: 4.1 O|&
2. 20168t T 28t)| O|F (X&) =208 28X
* CF 20168t 18| 2H 1H ZE2)MOZ 48t5l= M2 2)) &)
2E ¥H Pass/Fail 213
- XM Pass/Fail 21F
* Bt 33 )5 2 S0HSES L =30 uE2AdE 828 wis0| ot 2 dY
Pass JI&E: 1.0-4.0
Fail J1&E:4.1 0l &
- ®B: 4" s3 o3
A SZ HBE(MEZ U2 =29 F)
® s = HALAQ Seminar E£= Vor lesung
=2 M X (ECTS Note) A o1 H4A
dZ 1EE dZ 254 M= 3,484
sehr gut A 1.0 - 1.4 At At A+
A 1.5-1.9 A+ A+ A+
gut B 2.0-2.4 A+ A+ A+
B 2.5-2.9 At At At
befriedigend C 3.0 - 3.4 At At AO
C 3.5-3.9 A+ AO B+
ausreichend D 4.0 - 4.4 AO B+ BO
mange lhaft E 4.5 -4.9 B+ BO C+
ungentigend F 5.0 F F F
® os ¥
=2 (A1 - A2)
2 o1 H4A
=ol MXA
R HZ 154 HZ 28t M3 354
sehr gut A 1.0 - 1.3 At AO B+
gut B 1.4 -2.0 AO B+ BO
befriedigend C 2.1 -3.0 B+ BO C+
ausreichend D 3.1-4.0 BO Ct+ CO
mange lhaft E 4.1-4.9 C+ C D+
ungentgend F 5.0 F F F
=3(B1)
ol Ax 20 o1& HH
== o= 7(‘_4_?_ 1§H‘_j 7(‘_4_2_ E%ﬁ}l.‘j X.;'-S— S%ﬁH\—j
sehr gut A 1.0 - 1.3 At At AQ
gut B 1.4 -2.0 A+ AO B+
befriedigend C 2.1 -3.0 AO B+ BO
ausreichend D 3.1-4.0 B+ BO C+
mange lhaft = 4.1 -4.9 BO Ct+ CO
ungentigend F 5.0 F F F
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